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Chapter 3

Vx(Fx — ~Gx) [=#x(Fx & Gx)
Vx(Fx v Hx — Gx & Kx), ~Vx(Kx & Gx) [(FX~Hx
Vx(Fx & Gx — Hx), Ga & VxFx [Fd & Ha
Vx(Fx & VyGy) [YkFx v Vx~Fx
Vy(Fa— @xGx — Gy)), Vx(Gx — Hx), Vx(~Jx—~Hx)

[dx~Jx — ~Fa v Vx~Gx
Vx(Dx — Fx) [Xk(Dz — (Vy(Fy = Gy) — Gz))
IxFx & Vy(FyvGy—Hy), IxHx, ~Vz~Fz [ 3% (Fx & Hx)
VxFx [=#xGx < ~3x(Fx & Gx) & Vy(Gy — Fy))
Vx(AyFyx — VzFxz) [¥kx(Fyx — Fxy)
Ix(Fx & VyGxy), Vxy(Gxy —»Gyx) LT (Fx & VyGyx)
Ix~Vy(Gxy — Gyx) [TXFy(Gxy & ~Gyx)
Vx(Gx— Vy(Fy - Hxy)), Ix(Fx & Vz~Hxz) [ =YxGx
Vxy(Fxy — Gxy) [Vk(Fxx — Jdy(Gxy & Fyx))
Vxy(Fxy — ~Fyx) [C=#xFxx
Vx3dy(Fxy & ~Fyx) [ IX~VyFxy
Vy(@x~Fxy — ~Fyy) [L¥k(Fxx — VyFyx)
IxFxx — VxyFxy [Yk(Fxx — VyFxy)
a=b [bda
a=b & b=c [aic
a=b, b#c [adc
Fa & Vx(Fx — x=a), 3x(Fx & Gx) [Gh
Vx x=x — JdxFx, Vx(~Fx v Gx) [(ZX(Fx & Gx)
Vx(Fx — Gx), Vx(Gx — Hx), Fa & ~Hb [azb
Ix((Fx & Vy(Fy — y=x)) & Gx), ~Ga [=Fa
IxVy((~Fxy —>x=y) & Gx) [V}(~Gx —>Jy(y#x &Fyx))
Ix(Px & (Vy(Py — y=x) & Qx)), Ix~(~Px v ~Fx)

[T (Fx & Qx)

Vx3dyGyx, Vxy(Gxy — ~Gyx) L[C=HyVx(xzy — Gyx)



